a—1

THMIFEF2RA V3 —1y bV EZE—T 7 — FRE

22 THLLLVK]
MEE R

KEKOREMIZDNT
HERIE, SELOTVBKEKDELEIZOVWTEDLSIZRVVETH,

[BEHFY—EXHBREE] I2DUL\T

X EDIBARRVOFHREDT 54 1]

MR D LB T,

DEEH105% & WS FERT LT,
[P RLTH D] .

_ il Nﬂgﬁﬁ EIZLE EES EIZLE
S bEbRTTES | FOTHS I
i:§;§§255 ?g ?g: FRTHD 55 10. 5%
5. EHELELLARL 9 T 7%
/}§®T%5J\ri%i%ﬁ@?%%l@éﬁﬁWB%%ﬁb\T%%Kﬁ?%éjxrmﬁﬁ%él

[(RLETH5| OEFHEMETIL.I%E . BUETIZSA4% TH

DI LTER>TWET,
\
EIES - b=
T4 A1 EES gk EXES

260 262 522
REDNE T30] 53. 4% 87 33.1%] 226] 43.4%
2. IhEHELCHS T05| 40. 4%  127] 48.5% 232 44.4%
3. PORETHD 1] 4.2% 34| 13.0% 45| 8.6%
4 _ARTHD 3 1.2% 7| 2.7% 10| 1.9%
5 FhbELLARL 2] 0.8% 7| 2. 7% o 1.7%

2.

5.

1. ZLTH5

EHEHRULTHD

3. PPFRRTHS

4, RRTH5

EbLEHVALEW

BB ma n2tk

0.0%

10.0%

20.0%

30.0%

40.0%

50.0%
EELE

60.0%

70.0%

80.0%

90.0%

100.0%

2-25




EEHK - HE

=2 20k | 20kt 30X 407% 1% 50i% X 60t [ 70 LI E
1 17 56 144 129 114 61
1. EDCHb 1{100. 0% T141.1%] 19[33.8%| 59[40.9%| 55[42.6% 49]42.9% 36[59. 0%
2. FHEHRERLTHD 0f 0.0% 8|47.1%| 31]55.4%| 62(43.1% 57(44.2%| 54{47.4%| 20]32.8%
3. PORECHD 0] 0.0% 1]5.9% 3| 5.4% 16[11.1% 12]9.3% 10]8.8% 3| 4.9%
4. RXETHD 0] 0.0% Of 0.0%  1f 1.8% 4[2.8% 4]3.1% 1[0.9% 0f 0.0%
5. E55&HLVAEL 0] 0.0% 1]15.9% 2[3.6% 3[2.1% 1]0.8% 0] 0.0% 2( 3.3%
W20FRARGH W20 N w305%A w40kt msomEft, me0rRft m70RRM b
1. BibTH5
| \ \ \

2. EHFEHRLTHS

3. PRRRTHS

4, RRTH%

5. ¥bnEb LA

0.0%

10.0%

20.0%

30.0%

40.0%

50.0%
EELE

60.0%

70.0%

80.0%

90.0%

100.0%




